DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
12NPCBO2 | NEET PRACTICE QUESTIONS | 21 XH
(2023-24) (TEST-2) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. Two points P and Q are maintained at the potentials
of 10V and —4V, respectively. The work done in
moving 100 electrons from P to Q is

A)-9.60 x 1017 B)9.60 x 107J

C)-2.24x 10716] D) 2.24 x 10°16]

LjeTerflge P nmmith Q 6V (WemmGul 10V M mILD
-4V 10l 65TeT (D& & BIG&H6T BlemeuBl Mg SLILGISR ME!
eTeufley  LeiTerf] P Welmma Q & 100
6TEL& LT IMEOTEHEM 6T H&HTHS G &F WWILILIL L GeuU6et)6V

A) -9.60 x 107"7J B) 9.60 x 107"

C) -2.24 x 107') D) 2.24 x 107

2. Atacertain distance from apoint charge the electric
field is 500 V/m and the potential is 3000V. What
is the distance?

A) 6m B) 12m

C) 36m D) 144m

LeTerfl Wledrenml L& smev GmILLL LeTerfluflev
WeTLjeuld  500V/m  WmMID - WOleTeT(D &S0
3000V erenflel Lyeimerfl letTeRNL L SH6v @) HHS!
LjeTerfludledr gmiyLd
A) 6m
C) 36m

B) 12m
D) 144m

3. Two charged spheres of radii R, and R, having
equal surface charge density. The ratio of their
potential is

A)R /R, B) R/R,

C) R /Ry D) (R/R,)

R, LDMMILD R, 94, TLD Q& Tevor L LAl6TERTL L LD QLIMHM
@M CoHMeTmIGET FLOWmeT UFLILLFSH el
Q& mevor(h6Tengl  eTeofle L 6oT60T (LD & & Ml & 61l 60T
DicaF:{h)

AR /R, B) R/R,

Q) R /R, D) (R/R,)?

4. Assume that an electric field E = 30x?i exists in
space and potential difference is V, -V, where
V,, is the potential at the origin then, potential V,
atx=2m is

A) 120V B)-120 V

C)-80V D) 80 V
Qeuerfluflev Q&weuLI(D L1 63T L] 6V & &) 60T
WS LILTeTg  E=30x4 el SHBSUILUOIRMS.

Gogild WerTerrWwHs CeumiLir® V, - V. @&lev
V,  ererug  pHlligetefluiley QEwebuBid
IleTeOT(LGS HID,  eTedflel x=2m 6V 2 6iTeT
Ll 6oTEOT (D SHSLD V, 83 H6v0TEHH (B 5

A) 120V

Q) -80V

B)-120 V
D) 80 V

5.If the charge on a capacitor is increased by 2
coulomb, the energy stored in it increases by 21%.
The original charge on the capacitor is

A)10C  B)20C  (C)30C  D)40C

6(IH L 63T B 55 & G\ U9l 60T LT L5605
2C 9aTeysE 2 WissEh  Gumgs  Cruissl
MEUGHLILLL QMMeL 21% 2 WFH M, eresflev
N eTCHERUINT QSHTLES Ll6TeRTL L LD ----

A) 10C B) 20C C) 30C D) 40C



6. A parallel plate capacitor had a uniform electric
field E in the space between the plates. If the
distance between the plates is d and area of each
plate is A, the energy stored in the capacitor is

A) 12 g B? B) E’Ad/e,
C) 172 ¢ E*Ad D) ¢ E*Ad

@SSR WTCHER UL  F5&5H&HEHE G
@emLBW 2 6Tem Fymeor WledTLeVld E, @ revor(
55HHEHHEG QeMLCW 2 6TaT QHTemeve| d
LOHMID S&LIGET GSMISGSGL ULl A ereflev
6T CHHRUN6L CFLAG S 6M6eUESLILIL L Sp,MM6V
A) 1/2 g E2 B) E2Ad/g,
C) 1/2 g F?Ad D) & E?Ad

7. Four capacitors of equal capacitance have an
equivalent capacitance C, when connected in
series and an equivalent capacitance C, when
connected in parallel the ratio C,/C, is

A) 1/4 B) 1/16 C)1/8 D) 1/12
@ 76vor(h) L 60T B 5 & ) & 600 61T QSMTLIMS
@) 60)600T&H & LILI(HILD GuUIMal Q& M@& LILLI6OT

Wl 63T & 8 & & H 6o C, LDMHMILD L1885 &) 606007 LILII6V
@) 60)600T& & L1LI(H LD Gumsl Q&M LIUI60oT
6T CSH 8 S Hmetr C, erevtlev C,/C, &S0

A) 1/4 B) 1/16 C) 1/8 D) 1/12
8. The total capacity of the system of capacitors

shown in the adjoining figure between the points
Zp,F

|| J-
1pF = % 2uF

A

2pF
A and B is
A) 1pF B) 2uF C) 3uF D) 4uF
A wopon B yeTeflsEersE  @emL Gl
@) 6mevoTd: & LILIL_(h6TerT Ll 637 G &5 8> 5\ &5 6l 60T
emLIL96T QLTSS 6T G5 8 & & 5 M 6ot
2uF
A {l
%)
T “6 L our
B ———
2pF
A) 1uF B) 2uF C) 3pF D) 4uF

9. A car covers the first half distance between two
places at 40 km/hr and the other half at 60 km/hr
the average speed of the car is

A) 120km/hr
C) 50km/hr

B) 48km/hr
D) 24km/hr

&MY eatm @reor(h Q@LMBISEHHESG @6l LIl L
WPH6L IMTLI LIGH QETemnevenal 40 km/hr LIG) 2lem Ll
LUGH Qs memevemnel 60 km/hr CausSEHIaID SLERMSI
etevflev &mifledt el CousHms &eTsH (H &

A) 120km/hr
C) 50km/hr

B) 48km/hr
D) 24km/hr

10. A particle moves a distance x in time t according
to the equation x = (t + 5)"'. The acceleration of
particle is proportional to

A) (velocity)*?
C) (distance)?

B) (distance)?
D) (Velocity)*?

SIH6ET RTM X QFHTemnevemal t &Mev jemeiley
X = (t+5)'6T6dTM FLOGTUMLIQ6T LG SLEHRMSI.
siseaflar Wwh s Leatal@md 6hs emellhE
GBS S5 5a60 SMDTRMSI.

A) (HenFGeussLn)? B) (A& Tem6V6))?

Q) (A& MTEmEV6Y)™ D) (&6t & G618 0)23

11. A ball is dropped from a high rise platform at t =
0 starting from rest. After 6 seconds another ball
is thrown downwards from the same platform
with a speed v. The two balls meet at t = 18 s.
What is the value of v (Take g = 10 m/s?)

A)75m/s B)S55m/s C)40m/s D)60m/s

@@ 2 WISSLILLL B CenLulledmbgl t = 0
6TeOTM &IV l6emallel eule Blemeuulley 2 aTer
LIBS! eeorml GG ellwmm QFWWLILGSRma.
6 BIULESHDG er HenlL CemLuleSmbs!
WLMHAMTMm  Ubhs €5 Cassidlen GG
AW QFUWLLGSRMmE. t=18 alleT T sHE
NeoT @GHS @QGUHSISEBLD 660760 M6 W MeoTml
FHH &MV v-60T DG LILITETSI

A) 75 m/s B) 55 m/s C) 40 m/s D) 60 m/s

12. A balloon is at a height of 81m and is ascending
upwards with a velocity of 12 m/s. A body of
2kg weight is dropped from it. If g = 10 ms2, the
body will reach the surface of the earth in

A)15s B) 4.025 s
C)54s D) 6.75s

81m 2 WISHe 2 6Tem LIQTeOT  gedray  12m/s
FenFCalsHHH 6L CLDRVWRMS. 215 LisuTeotl60 (B S
2 kg 5]667Q)U_|GTTGIT QUTBEMET HELD aﬁ]@mrrg,u QewwLll
LIL LMV QUITB6T Liaflenll Sj6mL LD &ITeVLD 6T6oT60T?
(g=10 m/s?)

A)15s B) 4.025 s

C)54s D) 6.75 s



13. A stone falls freely under gravity. It covers
distances h, h, and h, in the first 5 seconds.
The next 5 seconds and the next 5 seconds
respectively. The relation between h , h, and h, is

1?72
A)h=1h=h B) h,=2h =3h,

C)h, =h /3=h /5 D) h,=3h, and h,=3h,

&6V e@erm  LelrFly  ellemswmey GG
ANWHMSI. AHHL PGV, @I6UTLITID DMHMID
eeoTmmd 5 B misefley wWeamCw SHLbHS
Qgmemevey h, h, LHDID h, eTeflev h, h, h, &
@enL LUl L Q& TLFLN6m60T &IT600Tss:

A)h,=1h,=h B) h,=2h,=3h,

) h,=h,/3=h,/5 D) h,=3h, and h,=3h,

14. A body moves with initial velocity 10 ms™.
If it covers a distance of 20 m in 2s, then the
acceleration of the body is

A) zero B) 10ms= C) S5ms! D) 2ms?

@ QUITH6T 10 ms” QSTL&HHS Hen&FCals 5% 6V
QEFLVRME. @b QUTIHeTTTS 2 aflermiguiey
20 WL Qs memevenel &S&LEHMS  6Teflev
Qumerfledr LNHE& 8D WMSHI?

A) & B) 10ms= C) 5ms’’ D) 2ms?2

15. Two balls A and B of same masses are thrown
from the top of the building. A, thrown upward
with velocity V and B, thrown downward with
velocity V, then

A) Velocity of A is more than B at the ground
B) Velocity of B is more than A at the ground

C) Both A & B strike the ground with the same
velocity

D) none of these

@65 bleopueLw A WO B aarm QG
UBSI&G6T 2 Wirnmer &L LLGHer Guedmba
elWliLG&mE. A wrmergd CeGHTESH V
HensGasmsHevn B wWmergl S CBTeHEs V
FensFGalss T avld erMIWLILGS M

AgenTuilev A 6T FlemFGeussLd B &3 el H &L
B) H6mJUil6L B 60T Hlem&FCaussib A &3 el 9|H 51D
C) A& B Gy HenFCalssH6L HemTuiley allwpld

D) GLom&sevorL 615516 Lol6L 66V

CHEMISTRY Q.No. 16 to 30

16. IUPAC name of the following compound is

CH,
CH,- (‘IH —CH - CH,~ COOH
o
A) 2 — methyl -3-hydroxy pentatonic acid
B) 4, 4 dimethyl-3-hydroxy butanoic acid
C) 4-methyl -3-hydroxy pentatonic acid

D) 3—hydroxy -4- methyl pentanoic acid

IUPAC QuwW (&

CH,
\
CH,~ CH - CH - CH,- COOH
\

OH
A) 2-QL0 &S 6v-3-mam L ITEerd G LicvorLeorull g
9jdleuLn
B)44-emL.  QUSH -3-  emamlyrsed

wl Lermuilsd &dlevld

C) 4-QD5SH6V-3-emamL_[J M8 6rd G LIevor Leor muil&s
3Ldl6vLh

D) 3-emamL & endl-4-6\L0 &5 60 GlLI6oor L_eoTTul &
9Ldlevld
17. Benzoyl chloride is prepared from benzoic acid
by
A) Cl/hv
C) SOCl,

B) SOCI,
D) CLH,0

QuUeTCETUWIS VST BHS GLETCEFTUN
GCermenyLms WIHmL LweTu®h efleners
& IT600r ]

A) Cl/hv
0) sodl,

B) SO,Cl,
D) Cl,H,0
18. Identify the correct order of Boiling point of the
following compounds
A. CH,-CH,-CH,-CH,-OH
B. CH,-CH,-CH-CHO
C. CH,-CH,-CH,-COOH

A)A>B>C
C)A>C>B

B)C>A>B
D)C>B>A



Nereu@ld  CFILOMGEMET Q& TH Blenevemnull]
QumrMIg s Fiflumer auflenganul CaHIHOSH & 5.

A. CH,-CH,-CH,-CH,-OH
B. CH,-CH,-CH,-CHO

C. CH,-CH,-CH,-COOH
A)A>B>C
OA>C>B

B)C>A>B
D)C>B>A

19. The carboxyl functional group (-COOH) is
present is

A) Picric acid B) Barbituric acid
C) Ascorbic acid D) Aspirin
GLE&SETLIMHMIT  6TH6  &TFUMsGaieds

3|6V NEMETFQFUID QFHTSHS 2_6TeTS?
A) Ulsiflg gjdleun
B) urgUlyy iflé »jidleutn
Q) envsTILlg gjdleuld
D) @y,ervLilfleot

20. Sodium phenoxide when heated with CO, under
pressure at 125°C yields a product which on
acetylation produces ‘C’ the major product ‘C’

would be .

A) @EOCOCHz B) t _COCH,
COOH

OCOCH,

OH
COOCH, [ i ]
© @/ D) COOH

G&MIQUILD &L 60T 6066t 125°C GlalL ILIBlemeuuiley
SWSSHHV CO, 2L60T  QeululLBHSSID
GuUMsl HeLEGLD  ellemerallemer — GILIMIHEN6T
SFLmLGummd  QFUIWDEUTE  HemL &G
e eoTellemeTQLIMTIBET ‘'C’ 8385 85T600TSs.

OH
OCOCH, COCH
ML JOns
COOH

OCOCH,

OH
C) ©/COOCH3 D) @
COOH

21.In the reaction, CH,COOH —2:
A —"~ B2~ C the product ‘c’ is

A) Acetaldehyde
C) Ethylene

B) Acetylene
D) Acetyl chloride
GLsemerL CauFallemeruiey 'C’ 086 &HTE00TS.
CH;COOH —HM A P M . C

A SIFILLmevigemam®  B) &L 19 65er

Q) 6185 65601 D) & L6060
&Germmemnr(h

22. The correct order of acid strength of the following
carboxylic acids is

_ /o s N
()] (Y]
o /\/OH
. 7 H,C
" O_@_\OH 5
(ID) av)
A) IV B) II>I>1V>111
O) IV D) HI>I1>1>1V
G LD GG 600TL &STyumsendleds 3jflev
Garwmiserfler siflwmer 9blev euflens
(6]
T <OH :>=/ MNow
@ (I
o /\/OH
. 7 H,C
M o_©_\OH (")
(1) av)
A) I>11>1>1V B) lI>1>IV>1ll
Q) I>I>1>1V D) lHI>1>1>1V

23. Salicylic acid when heated with zinc dust gives

B) Benzene
D) phenol

A) Benzoic acid

C) Salicylaldehyde
Fmedl&d6ds 9jbdlevid Zn STEHL6T QeulILLIL(H &S
FemL_LILIS

A) QueTCFmuils 9Lilevld

B) G\LI 60T & 60T

Q) &meF 6VM6L 19600 (D)

D) LfeorTmev

24. The equilibrium constants of the following are
2NH; == N, +3H, K,
2NO =—=N,+0; K,
H0 <= H.+50. K,

then the equilibrium constant (K) of the reaction
2NH, + %oz —— 2NO+3H,0 will be

A) KKK, B) K K| K,

CO) KK, K, D)K,| KK,
G LD G 600TL 611 60 60T 5 (615 & &5 IT60T FLOBlem6v
omnledl s et

2NH; ==N,+3H, K,
2NO =—=N,+0: K,
HO0—=—=H.+ 50, K,

s @MEGD GLITs 2NH:+50: == 2NO +3H.0
eT60T 6len6oTE: & M60T & L[Hlemev Lommlel



A) K K2 K,
Q) KK, | K,

B) K,K;? | K,
D) K, | KK
25.1f the value of an equilibrium constant for

is 1.6 x 102, then at
equilibrium the system contains

a particular reaction

A) all reactants
B) mostly reactants
C) mostly products
D) similar amounts of reactants and products
@m GOUYLL  alemerulledt  FOBleMEV
orpledlulledr W& IUMeTgI 1.6 x 102 <&
@SS CUME B FOBlemey emnliLle
@ouusg!
A) 8106 &I 6l e 6ot LI @ LITIH 6T
B) :F& LILFOMS ellemeor () GLITIHeT
Q) B &L FLD ellement ellemer QLITIH6T
D) ellemeoT LI(GIQUIMTH6T LoMmmild el evreoredlem e
QUITIHET FLOLDMTE @) (H&SH 6V
26. The value AH for the reaction x, (g)+4y2 o 2XY40
is less than zero. Formation of xy @ will be
favoured at
A) Low pressure and low temperature
B) High temperature and low pressure
C) High pressure and low temperature
D) High temperature and high pressure
Xyt o= 2,y AH<O0 @HS aflemeoruilev XY
2 _(HEUTEUSMETEOT B LIS 60 60TE 6T
A) GODHS SWHSLD GeODbHS G aILILIBlen6y
B) 2158 GuLILBlIEn6 GenMbHE (WSS
0 ABH& WSS GOMBS GlelLILIbl6m6v
D) 2188 GQeulILBlene SF& WSSO
27. The rate constant for forward and back ward
reaction of hydrolysis of ester are 1.1 x 102m™!
and 1.5 x 10°m™" equilibrium constant for the
reaction is
A)4.33 B)5.33 C) 6.33 D) 7.33
eTervLfl 60T BrrHueLliy aflemeoruilev
(WeTCeTMEG LDMMILD LNeTCoora @ alemeorudlesr
aflemerCals LmMled 1.1 x 102 BIALLD™ mHmiLh
1.5 x 102 plALL" @b ellemeTulest &FLomlemnev
omled

A) 4.33 B) 5.33 () 6.33 D) 7.33

28. For a reversible reaction, if the concentration of

reactants are doubled, the equilibrium constant
will be

A) one — fourth
C) doubled

B) halved
D) the same

@m Wetalenerulley  aellemeot LI LR e6rleor
QEmle] @ueor(h LOLMBISTGWD CUMSI, FLObleney
mmledlulledr LGILIL]

A) BITETHRIEL @@ DL MHIG B &H&EGI0D

B) @U6U0TI460 R LOL MBI 4F&flE G0

Q) @revor(h LOLMIG&TG LD

D) 6765 WMMHMEALD QHESTS!
29. In which of the following equilibrium K and K,

are not equal?

1) 2NOw = Nogy + Osg

ii) SO2 +NOu = SOy +NOy,

1i1) Hag + Lo = 2HI,

V) 2Cy + 01 = 2COs¢

A) (i,ii) B) (ii, iv)

C) (1, 111, 1v) D) none
BLoseoorL 671G ellemeoruilev K, LnmmiLh K. Hmib
FLOOMEH @ (HH&HMTSI?

i) 2NO = Nyt Oz

i) SO1 + NOs = SO3 + NO,

fif) Hag + L = 2HI

iV) 2C, + Oy = 2CO0sg

A) (i, ii) B) (ii, iv)

Q) (i, iii, iv) D) @eummlev eTgia]Lllevemev
30. If ais the fraction of HI dissociated at equilibrium

in the reaction, 2HI =H,+ 1, starting with 2

moles of HI, then the total numbers of moles of
reactants and products at equilibrium are

A)2+2¢ B2 Ol+a D)2-a

2HI =H, + |, 61601 &Floplemev eflemeoruiley Hieor
FenselemnLGH6V LeTerd o GLOMEVITHED 8560
QBMLES QM6 2 CLOMLEETTSHE|WD @) (HHS T
Fplemeuilev allemerTLIBQUTIHETHET OMHMILD

aflemeoralemrem QUIT(H6TSs 6rfl6oT QLTSS
GLOMeL &6 60T 6T600T6001 & 60) &
A2 + 2a B) 2 O1+a D)2 -«

| BIOLOGY (BOTANY) Q.No. 31 to 45

31. The number of meiotic and mitotic divisions
required to produce one monosporic embryo sac?

A) one meiotic and two mitotic divisions
B) one meiotic and three mitotic divisions
C) one mitotic and two meiotic divisions

D) one mitotic and one meiotic division



@ QUIMNSSIEFTT SLIemLUNGT aleTidF& &G
GoemalliLi(GWb WWm&lev wMHmID el LT& e
LI LI 86T 60T 6T600T 60011856008 6T60T60T?
A) e WM& 6N Lo M miLh @) T600T () 6M LD L LT &6
LU@&LIL&6T
B) e2(H LAIWITE 61V LOMMILD eLN6ITMI 6MLOL L ITE 6N
L@&LIL&6T
@revor(h

Qe eWLLLTFV mHmILd

WOwWm&len LIGLIL &6T
D) @ eMWL LMHF6v MMID @ WwWm&en
L& LIL
32. Identify correct statement

I. The productoftriple fusionis primary endosperm
nucleus

II. Primary Endosperm nucleus of angiosperm is
formed before fertilization and triploid nature

III. Primary Endosperm nucleus of gymnosperm is
formed after fertilization and triploid in nature.

IV. Products of double fertilization are Zygote and
Primary Endosperm Nucleus

A)Tand II B) I and III
C)Iland IV D) Il and IV

FrlwmeT gamenm & evorLmls

I. en &l 6v) 6voT 6| 60T eLP6ULD
&H(HEL,E0TH & 2_(HeuTH MG

Il. 9EF CuenQLT LD G660 (PG EVIBl6m6V
HHRAOTHH  HOYSNEES P66 T
2_HUTHIMS, (PO UILDTSH D_6TETS.

1. &l Geormen @ LT LD & 6rfl6L (PG 6LIBl6M6V

SO HEF  HOHUNSNEES  LNeTer ]
2 (HAUMTHMSI, (PDIDIGUILNEG D_6TeTSI

(LS 6LIBlem6V

V. @ UL 6L &HeymigGedler CUTEH SIHILOL 6L
LMHMID (PSH6V BlemeV SH(IHey,e00r 2 L &(H
2 (HUTHMS

A) | LoHoILD Il
B) | Lo miLh II
Q) | LnHmID IV
D) Il Lo miLd IV

33. Identify correctly matched pair

A) Herkogamy - Gloriosa
B) Distyly - Vallisneria
C) Tristyly - Primula
D) Epihydrophily - Lythrum

Fflmg QUITIHHS) W @)6m6ooTen) Wl & 6v0T L M) &
A) UmeumiLiL] SeofllIL(h & &6V — GG lGWIma T
B) @)\ G6V85 H6voT(h) &60TetIn — eUmedlerv GBI lwim
C) eLNEITMI G608 G600T(H S60TemLn — LlemILpeurT
D) BFCLO6L ID&HTHSHEF CFIENSH — MeVSTLD

34. Pollination by butterflies referred as
A) Cantharophily
B) Phalaenophily
C) Psychophily
D) Melitophily
61 600T600TS I ILL G F &H6rfl6dT  eLpeulD B0 GLIMID
IN&HTHHEFCFTEHMSH
A) G&6TH BT M L6060
B) LIS Geormes LN 6L 60l
C) em&FCHTHLN6060
D) Q6VeIGL TS L6060

35. Ovule of an angiosperm is technically called
A) Megasporangium
B) Embryo sac
C) Megaspore mother cell
D) Megaspore
FH606V

SLEFICWmeG LTS 6T (@ 6edleor

2 HOFMeV
A) QLIS &0
B) &mLIemLI
Q) QUBNES ST Q&6
D) QUG &SI

36. Filiform apparatus that guide the entry of Pollen

tube into the ovule is present in

A) Antipodal cell
C) Stigma

B) Synergids

D) Suspensor
D&ETHSHHGLMD GedleT 2 6TCT QFaSHSHID
BIeSlemLp FMH60TID 6TH 6V 2(60)L0MHSIGTETS

B) Sleor TSI (D &s6T

D) F6NGILIGTENITIT

A) 6THTI QFLG 6T
0) GeLWg

37. Plant provide safe place to lay eggs as floral
rewards for pollination

A) Viola
C) Maize

B) Amorphophallus
D) Vallisneria



IN&HETHHFCEFTEHMBHEHG QeUG L WIS,
WL L WIBeusmE& LUMSISTLLITET @)L &5 6meor
SHLD SHTEUTLD.

A) emeUGUImeVIT B) QDM FGLMSGLIGU6N

C) D& SHTEFERFTETLD D) eumedervGmflwim

38. Functional megaspore develops into
B) Embryo
D) Nucellus

A) Endosperm
C) Ovule

QeweL(d QuUGBeNSS eleTIFR WL HS
2 _(HeUmeUg)
A) &(Hey,600T H G
Q) @6V
39. Identify correctly matched Pair

B) &(HLIemLI

D) BlW,G1&F6v6v6n

1. Nostoc — Coralloid roots of Cycas
1. Mycoplasma — Witches broom of legumes
1ii. Actinomycetes — Ray fungi
iv. Ascomycetes — club fungi
A) 1 and iii only
B)iand iv only
C) 1, ii and iii
D)1i,iiand iv
Frflwumer @emeoorenl C5IHOSMH):
i. BITENVLITE — 60 &G 6e0l60T LieueT Geuigser

i. NGBS TLIGTITEVLOT — Q6VEm LD &Te)TE P 60T
SlemL LI GmITul

iii. QL8519 CeT MO L 61V — HH T LLEHen &F
iv. QLENVBHTEMLNGF L 61V — &H600TL MM &L

LL6H 60V F 6T
A) i LDMOILD iii B) i LDMHMILD iv
Q) i, il LDMMILD iii D) i, il LDMMILD iv

40. Gametangial copulation seen in
A) Rhizopus
C) Agaricus

B) Neurospora

D) Albugo

G&HLOL L& @ emeoorLIL] (Pemm &5mevor LILI(h 6 S
A) emgG& L6
Q) 915 miflgsen

B) Blw, G meruGLITTIT
D) Q6uLB&IT

41. Identify wrong statement with reference to
Mycorrhiza
A) Absorb water and minerals for plants
B) Drought resistance for plants
C) Protect roots from root pathogens
D) Air pollution indicator

MWECHTOIFT GMISHSH SHEUDMTET  FnMH6MM

&6v0T LM &

A) &ITEUTTHIG 658G & 6011 L0 LG LIMTHL_&H6IT Lo M mILD
B0 2 PlebsausnH&

B) ZMAUTBIGERSEG eIl Feawl  SMTHIGLD
Bmener efl&E&H M

C) Couygemear GBS MIyevof18se6rfledr
BMEHGSH60 QBHS! LIMTSISTHSH0

D) &mmmi LOM& FLI9SH SMTLIQWIMTSHF
QeweL®H M

42. Assertion (A) : Lichens are pioneers in Xerosere
Succession.

Reason (R) : Lichens secrete organic acids which
corrodes rock and helps in weathering of rocks

A) A and R true and R is correct explanation for A
B) A and R true and R is incorrect explanation

for A
C) A is true and R is false
D) A and R false
Gam (A) : 6T Blevd Smaly eublpenm
aUerT &G ulleor (LD6OTGEOTITIY & SMTaITLOTS

M6V HQ G60TEHET aIl6THIGHMS!.

SMJeooTld (R) : 606VHC&HETSHET LITenME6T LIS
&l glleVBIG6T &HIHSE LD6EDoT 2 (HeUTS
2 SaHDS.

A) A Lol R @ gesor(hb &Fifl - R, A & & & iflwimeor
allemg & LD

B) A LnMmild R @uevor(hd &Fifl 9L60Tm6L R, A &G
Fiflwimer ellemg: s 3j6V6y

Q) A &Ifl R euml
D) A lommILD R Heumi
43. Parasexual cycle seen in
A) Phycomycetes
B) Ascomycetes
C) Deuteromycetes
D) Basidiomycetes
61H% Lehemsulley LIMedenerQUINMESS &SeiTenln
SITeooT LIS M S1?
A) emLICSH T EL 61V
B) 2,6V G&Tem LD L 610
C) 19 W, 19 GFmemn &L 61
D) LIS BWIT emDEL 6N

44. Conidiospores produced in

B) Yeast
D) Erysiphe

A) Aspergillus
C) Chytrids



Q& meofllg GUWIT eNVBLIMTTE 66T 2_(HeUTSHG6US!
B) FFeru(h)
D) eTiflem& s LI

A) L6V LITEl6v6ev6N
Q) ema&sLflig ey

45. Heterocyst found in
A) Cyanobacteria
B) Mycoplasma
C) Basidiomycetes
D) Ascomycetes

QamL_ 19 G m&HIervL_(H &6 eTeumnil6v

Smeoor LILIB &M SI1?
A) FwGeorm LIMS e flwm
B) em &GS mLYemmeruLnm
Q) LS CWTEMDF L 61V

D) &,6NVB&IT emInEL 6

| BIOLOGY (ZOOLOGY) Q.No.46to 60 |

46. Which of the following depicts the correct
pathway of transport of sperms?

A) Rete Testis —> Vas deferens —> Vasa
efferentia —> Epididymis

B) Vasa efferentia —> Rete Testis —> Vas
deferens —> Epididymis

C) Rete Testis—> Vasa efferentia—> Epididymis
—> Vas deferens
D) Rete Testis—> Epididymis—> Vasa efferentia
—> Vas deferens
Lereupeusoreummley e HESH6T  GlFevaIn
umenguiler Fiflwimet euflens e1&)?
A) L QLevigeny —> aflbg Brerd —> ellbS!
516007 [BITemLD —> 6TLN1g.1q.LSl6rv
B) elib &l Hlewor BTemid —>  [fL- QL6Igen —>
elbg Bmerh —> erLNig.Lq ey
O L. QLevigev —> ellbgl Hl6oor BT —>
erLg g 1fleiv —> elBGl BIeTLd
D) f. @QLevigev —> erlliqigidleny —> ellba
Hl600T BTN —> &I [HITETLD

47. Assertion (A) : The endometrium undergoes
cyclic changes during the menstrual cycle

Reason (R) : The myometrium exhibits strong
contractions during parturition.

A)Both A and R are true, R is the correct
explanation of A

B) Both A and R are true, but R is not the correct
explanation of A

C) A is true, R is false

D) Both A and R are false
FGamm (A LIseLmil  Spm&uler
cumsl 6TeorGL ML flwild Lev  &pme

DTHMBISGEHEHES 2 L LGS M.

&Myeoorld  (R) Gheng Umliler Gumal
QUNAITET FIHHEBIGMET gL SS6FH 60
EWMAWL W FHUBGSHMS!.

A)'A nmmild ‘R @uesor(hb &Fifl, 'R’ eTedrIg ‘A
et Fifluiment eflem&&1D L@ LD.

B) 'A'L0MMILD 'R’ @) 00T (h) LD & [f] LI T6EUT6D) 61 24, 60T IT6V
R ereotug ‘A et Frflumer  eflemg s
@) 6LEMI6V.

Q) 'A FIflWMeTsl 24,6076V 'R’ &6UMITEITSI.
D) ‘A LoMmMmILD ‘R’ @ FeooT(HLD &6 M ITEOTE0I6).

48. The principal hormone secreted by the Corpus

Luteum is
A) Relaxin B) Oxytocin
C) Estrogen D) Progesterone

SIFL6 ILIQW&He &rsslubGn weHHw
QM Ty GLO 60T

A) flevras erdl6or B) 21,856r9GL TG 60T
Q) FFenVL_GImegeor D) LGrmQevLy G meor

49. Receptors for sperm binding in humans are
present on

A) Zona Pellucida

B) Corona Radiata

C) Vitelline membrane

D) Perivitelline space
weflgisefley ellbgem  LemeoorL| &8 meoT
JMHLINGH6T 6TMHIG 2(60)LD[HSI6TETSI?

A) GFTeoTIT QILISYTHFILIT

B) &@meotm GrlqGuIL_LIT

Q) eNIL_Ledl6tT Fola)

D) edlL_L_edledT Lym @ emL_Qalerf]
50. Which one of the following hormone levels

will cause release of ovum (Ovulation) from the
graafian follicle?

A) High concentration of Estrogen
B) High concentration of Progesterone
C) Low concentration of LH

D) Low concentration of FSH



GLHETERID  amTIGIMeT 26T &Hefle) 615l

Sy e LN wedr Hlevoreny LILN 6O (BHS! S| 600TL
QFev  QeuefluflemL  (evor. (B LILIBH&6V)
gOUGSSSDS?

A) FFeVL_ G megenfletT 21H & QF M6y
B) LG MQIgeLy G menflett oiHla Q& nley
O LH - @&t &emDihs Q& mley
D) FSH - @ 60T G6mmbS G &6y
51. In the 28 days human ovarian cycle, the ovulation
takes place typically on
A) day 1 of the cycle
B) day 5 of the cycle
C) day 14 of the cycle
D) day 28 of the cycle
L0 6ol & 60Tl 60T 28 BITL &6 MG LTI &pmH&Iulev,

gjevorLld  eNBuUBSH (Ovulation) GQUITSHIEUTS
TLIGUME L QUMIGBMSI?

A) &M UN6T 1-94LD HTET
B) &LoMEIUNGIT 5-9y LD [HIT6IT
Q) &LpMmEAUN6IT 14-9L1D BIT6T
D) &LpmF UN 60T 28-9y LD [HIT6IT

52. Select the incorrect statement.
A) LH and FSH trigger ovulation in ovary

B) LH and FSH decrease gradually during the
follicular phase

C) LH triggers secretion of androgens from the
Leydig cells.

D) FSH stimulates the Sertoli cells which help in
spermiogenesis

SAUDTET aDHENMS CHTHHCHE

A) LH M mILD FSH, 31600 L& & 5) 69 (155 3! 21 600T L_LD
B UB Semn6v8 Smevor(h G 60T M 6oT.

B) &LIMe&Geumy Blemevulley LH mmib FSH
LIQ LILIQUIMTE & (G600 &) 60T M 60T.

Q) 8195 QFeuaeafledmbHa! 21,6007
QM GLOMedTa6rfl6dT (androgens) 2_MLIG S 6oL
LH smeoor(H&RmS.

D) @&FJGLMeY Q&Fev&Hemer  FSH
e UFICWTE 60l & 610
BHOLQUME QF LR MSI

SIT6uoT1Y.,
Bl&Lpemel

53. A temporary endocrine gland in the human body
is

A) Corpus cardiacum

B) Corpus luteum

C) Corpus allatum
D) Corpus albicans
wefllgisefley smeaTliLBL @ SHsmedls

Brerdleveur &L

A) SITFLIEN &ITITIQUITSLD
B) ST LIGN &L UILD
C) &THL6N &{6VTLLLD
D) &M LI6N 21,6018 60T6M)

54. Match the column A with Column B and choose
the correct option
Column A

A. Porifera —

Column B

1. Water vascular system

B. Ctenophora  — ii. Canal system

C. Echinodermata — iii. Metamerism

D. Annelida  —
A) A iii) B 1) Civ) D (ii)
B) A iv) B iii) Cii) D (i)
C) A ii) B iv) Ci) D (iii)
D) A iv) B 1) Ciii) D (ii)

iv. Bioluminescence

gfluneramenm CaIHES0H SSIL QUTHS SIS
alfleng - A aurflens - B

3. SIMETUL0 56T — i. BF&H G L6V D6DoTL6VLD

3. 19 GeoTMGLITITIT — ii. SIT6VEUITUI LO6D0TL6VLD

@). 6TEH GeoT TR LT GLOL_LIT —iii. 8 600T LMl &6 T&H & LD

. SjeoteoredlLIm —iv. 2_WIQ I merflygev

A) & i) & i) @ iv) FFo(ii)
B) & iv) &4, iii) @ii) FF (i)

Qo i) & iv) @) F (i)
D) iv) &bi) @ iii) FF (i)

55. In the Poriferans, special flagellated cells lining
the spongocoel and the canals are called

A) Oscula
C) Mesenchymal cells

B) Choanocytes
D) Ostia

Slememu]Led&erfley  erumetTEehCaFm&ev  LOMMILD
Smealmll UGB &seafled ugelds smeorliu(Lb
FLIL SeTenln Q&Moo SenF UL Q& 60 &6

A) OL6NVEG6VIT
B) Q& MW GeTmen&FL_(h & 6T
Q) ISFTemEHLDED QI &6V & 6T

D) &LenLq ulr



56. Which of the following is NOT a characteristic
feature of Platyhelminthes?

A) These animals are biradially symmetrical,
diploblastic with tissue level of organisation.
B) Their body is not segmented, but some exhibit
pseudo segmentation.
C) They are, mostly endoparasites of animals
including human beings.
D) Specialized excretory cells called flame cells
help in osmoregulation and excretion.
L9 edT6u (1h 61 60T6U M Ml 6L TSl
e 19Qemeu Ll 65785 6rl 68T LI6TOTL| 86T 260607

A g emellevmer 2 L6y S LemnllemLiLl

QUM MIGTET @606, FIMTIESFLD
FreownligemnLw FrhéeeE  eleumiGsaer
QLGS LD.

B) @ 6u6uem &2 U8 6rfl 60 & 600T L_hI1 8 61T @) 60 63I6V.
permev Flev 2 WiliflaseT L (b CLimedwimeor
9 L M&600TL_MI&H606ITLI GLIM MIGTEIT60T.

Q) @eme QUEBLLIMEeVILD Loeoflgeor 2 aimerfllL
afleuriGerflev &L (H\6voT 60T | 5 61T TS
6UITLD G 60T M 60T

D) &8l B8 & OLD, 26T(H & EVLIL| 6(LD MG LIMHILD
FLILSHeTenD aUMiIbBS, &6 HeHesEF
QFLGEHATTET &L GQ&FSH6TMeY (Flame cells)
1560 L_G) LI 01 §3) 60T M0 60T.

57. Identify the incorrect statement for the given figure

A) It contains amoebocytes and smooth muscle
cells

B) Nematocysts are used for anchorage, defense,
and to capture the prey

C) Sexes are not separate (monoecious)

D) development is indirect and includes a larval

stage
&ECLp Q&MH &H&LILL(BH6TeT UL &S M meor
SHEUMITET Fn MM 6TSI?
A) @56 UTCLITen &L () & 6iT
DM MILD QLD ETSH 60 &F Q&F6L&HEBHLD
& meooT L1 LI () 6 60T ) 60T
B) L1956\ &HTETEH S 6V, LIM&ISTLIL,
@y 9SS UHUW Lo &HEhHES

QBLGLTH VL H&6T LiuledTL(H 8 6ot m 6ot

Q) LIMedl6uT RIS 6T 5560118585 6011 WIMETEmEU ©)6V6BI6V
(@mumev 2_uliflser)

10

D) 6VIT6UITE 8565 60 L_LL LD6DY D (LN &> 5>

SHHEUETIEDR B L QLMIGHMS
58. Which one the following statement is incorrect?

A) Mesoglea is present in between ectoderm and
endoderm in Obelia

B) Fasciola is a pseudocoelomate animal

C) Taenia is a triploblastic animal

D) Pleurobrachia exhibits biradial symmetry.

LN edTeU(BLD SoMMIGH6TI6V TSI &6UMTEOTSI?

A) elledlwmeiley LmLiLemnL LDMHMILD
eLUmLEG @enmLuley  WCsFmT&Herflwim
Smeoor LIRS

B) &GUEIGWImeVIT &(hH Gumedl

2 L MH&WPlemusEremL L elleukiG
Q) leeflWm @ enal(h &G HEhem L al6VEIG

D) LB mLIrme& wimelev FOTJ&
FFETLILemnL U S|enLLiL]
SmeootLILI(h B m )

59. Ascaris is characterized by

A) presence of true coelom but absence of
metamerism

B) presence of true coelom and metamerism

C) absence of true coelom but presence of
metamerism

D) presence of neither true coelom nor metamerism

216N &TIflerOl6aT (2_([HEM6IT L(Lp) LI1600TL| &6

A) 2_600T60) L0 LLITEOT 2 Ly 2 ML WG
SL,60TIT6V &5 600TL_MBI&HETMHMSI.

B) 2_600T60) L0 LLIT60T 2 Ly LOMHMILD
&600T L1 & @He0 LIS

C) 2_euoTemDWIMEDT 2 L MEGWIWMHME  3460TM6V
&>600T L6155 @15 60) L_LLI S|

D) 2_eooTemOWITeDT 2 L MGWWMmmE  mmin

&600T L_MBI&G6TMHM S
60. Which group of animals belongs to the same
phylum?

A) Prawn, Spider, Limulus

B) Sponge, Sea anemone, Sea cucumber

C) Malaria parasite, Entamoeba, Mosquito

D) Earthworm, Hookworm, Tapeworm
LYereupeusoreummley 6THS eUend  6ll6uniE 86T
2RCT QHTGHH MW FMJHS6em6U?

A) @Mmmev, FlevBH), 60l Lpeveny

B) HLMUEHET , &6V FMNHS), HL6V QeueTerif]

Q) Geuiflwm gL (h 6vorevof], 6Tevor L LSLIMT, Q& TS

D) LD6voT (L, Q& MEHSHILILIWD, BITLITLILW



